Subject-Verb Agreement





NAME_____________________

CIRCLE THE CORRECT VERB CHOICE FOR EACH SENTENCE.

1. One sixth of a person’s daily energy requirement (is, are) provided by a pint of milk.

2. Two or more inches of mulch (protects, protect) many outdoor plants throughout the winter.

3. Alfred Hitchcock’s The Birds (is, are) coming to our local theater as a late show.

4. (There is, There are) a row of elm trees between the two farms.

5. There (was, were) several vacant seats in the last row. 

Subject-Verb Agreement





NAME_____________________

CIRCLE THE CORRECT VERB CHOICE FOR EACH SENTENCE.

1. One sixth of a person’s daily energy requirement (is, are) provided by a pint of milk.

2. Two or more inches of mulch (protects, protect) many outdoor plants throughout the winter.

3. Alfred Hitchcock’s The Birds (is, are) coming to our local theater as a late show.

4. (There is, There are) a row of elm trees between the two farms.

5. There (was, were) several vacant seats in the last row. 
Subject-Verb Agreement





NAME_____________________

CIRCLE THE CORRECT VERB CHOICE FOR EACH SENTENCE.

1. One sixth of a person’s daily energy requirement (is, are) provided by a pint of milk.

2. Two or more inches of mulch (protects, protect) many outdoor plants throughout the winter.

3. Alfred Hitchcock’s The Birds (is, are) coming to our local theater as a late show.

4. (There is, There are) a row of elm trees between the two farms.

5. There (was, were) several vacant seats in the last row. 

Subject-Verb Agreement





NAME_____________________

CIRCLE THE CORRECT VERB CHOICE FOR EACH SENTENCE.

1. One sixth of a person’s daily energy requirement (is, are) provided by a pint of milk.

2. Two or more inches of mulch (protects, protect) many outdoor plants throughout the winter.

3. Alfred Hitchcock’s The Birds (is, are) coming to our local theater as a late show.

4. (There is, There are) a row of elm trees between the two farms.

5. There (was, were) several vacant seats in the last row. 
